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QUESTION 1

What are three valid virtual interface types for a vSRX? (Choose three.) 

A. SR-IOV 

B. fxp0 

C. eth0 

D. VMXNET 3 

E. virtio 

Correct Answer: ABD 

 

QUESTION 2

What are two supported hypervisors for hosting a vSRX? (Choose two.) 

A. VMware ESXi 

B. Solaris Zones 

C. KVM 

D. Docker 

Correct Answer: AC 

 

QUESTION 3

You have configured source NAT with port address translation. You also need to guarantee that the same IP address is
assigned from the source NAT pool to a specific host for multiple concurrent sessions. 

Which NAT parameter would meet this requirement? 

A. port block-allocation 

B. port range twin-port 

C. address-persistent 

D. address-pooling paired 

Correct Answer: D 

 

QUESTION 4
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What are the maximum number of redundancy groups that would be used on a chassis cluster? 

A. The maximum number of redundancy groups use is equal to the number of configured physical interfaces. 

B. The maximum number of redundancy groups use is equal to one more than the number of configured physical
interfaces. 

C. The maximum number of redundancy groups use is equal to the number of configured logical interfaces. 

D. The maximum number of redundancy groups use is equal to one more than the number of configured logical
interfaces. 

Correct Answer: C 

 

QUESTION 5

You want to ensure that any certificates used in your IPsec implementation do not expire while in use by your SRX
Series devices. 

In this scenario, what must be enabled on your devices? 

A. RSA 

B. TLS 

C. SCEP 

D. CRL 

Correct Answer: C 
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